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icn-bmb DØ-c-Øn\v t\sc  ��am¿°v sNøp-I.

1. Hcp ssX \Sp-tºmƒ
Hcp XW¬ \Sp∂p
\Sp-\n-h¿°m-s\mcp
Ipfn¿ \ng¬ \Sp-∂p.
Cu hcn-Iƒ Bcp-tSXv ? (1 kvtIm¿)

a. Ipam-c-\m-im≥ b. Hf-∏-aÆ c. �H.-F≥.-hn. d. kpK-X-Ip-amcn

2. kam-\-]Zw Is≠-ØpI ? (1 kvtIm¿)
sIm≠¬ ˛
a. ag b. taLw c. ag-hn√v d. kqcy≥

3. hnØmgw sN∂m¬ ]Ømbw \ndbpw ˛ F∂ sNm√ns‚ Bi-b-sa¥v ? (1 kvtIm¿)
a. Irjn b. A[zm\w c. ag d. Blmcw

4. icn-bmb ]Zw Is≠-ØpI (1 kvtIm¿)
a. ARvP\w b. APvR\w c. A©\w d. ARvR\w

5 Cu h¿jsØ Fgp-Ø-—≥ ]pc-kvImcw e`n-®-Xm¿°v  ? (1 kvtIm¿)
a. bp.-sI. Ipam-c≥ b. kn. cm[m-Ir-jvW≥
c. Fw.-Sn. hmkp-tZ-h≥ \mb¿ d. sNΩ\w Nmt°m

6. IY-I-fn-bnse kv{Xoth-j-Øn\v ]d-bp∂  t]cv F¥mWv ? (1 kvtIm¿)
a. IØn b. ]®     c. an\p°v      d. XmSn

7. _o¿_¬ BcpsS kZ-�nse ]fin-X-\m-bn-cp-∂p. ? (1 kvtIm¿)

a. AIv_¿ N{I-h¿Øn b. hn{I-am-Zn-Xy≥
c. kzmXn Xncp-\mƒ d. Sn∏p kp¬Øm≥

8. am‰nsbgpXmw ?  BS-bm- -̀c-W-ßƒ (1 kvtIm¿)
a. BSbpw B -̀c-Whpw b. hkv{Xhpw B -̀c-Whpw
c. BS B -̀cWw d. BS-Iƒ B -̀cWw

9. ]qcn-∏n°mw ? (1 kvtIm¿)
A[ym-]-I≥ .................................. ]pkvXIw ]cn-tim-[n®p

a. Ip´n°v b. Ip´n-tbmSv     c. Ip´n-bpsS d. Ip´n

10. Iq´-Øn¬ s]Sm-ØXv Is≠-ØpI ? (1 kvtIm¿)

a. ]Ømbw b. GØ-s°m´
c. D∏p-a-cnI d. Ie∏

BsI kvtIm¿     :  20
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(t]∏¿ ˛�) (]m¿´v ˛F)

ae-bmfw

cPn:  \º¿

L´w ˛4

kabw :     ��� aWn°q¿
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11.  Ipdn∏v Xøm-dm°mw

]Z-kq-cy≥ {i≤n°q

a. IY-I-fn-bnse thj-ßƒ GX√mw ? GsX-¶nepw \mseÆw Fgp-XpI  ? (1 kvtIm¿)

b. IY-I-fn-bpsS kmln-Xy-cq]w GXmWv ? (1 kvtIm¿)

c. IY-I-fn-sb-°p-dn®v Ipdn∏v Xøm-dm-°pI ? (3 kvtIm¿)

B´-°Y

IY-Ifn Ie-I-fpsS cmPmhv

Iem-Im-c≥am¿

hmtZym-]-I-c-W-ßƒ
thjw
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12.  Bfl-I-Y-sb-gpXmw

♦ ae-bm-fn-bpsS apJy Blm-c-amWv Rm≥. F\n°p ]Icw ]mS-sØ√mw tIm¨{Io‰v
sI´n-S-ß-fmWv

♦ Fs‚ \m´p-Im¿ C∂v Fs∂ Irjn sNøm-dn√

♦ C∂v Fs∂ Ab¬ kwÿm-\-ß-fn¬ \n∂mWv sIm≠p-h-cp-∂Xv

♦ Hcp]nSn-tNmdpw CØncn I™n sh≈hpw Cs√-¶n¬ ae-bm-fn-bn√

♦ Imem-hÿm hyXn-bm-\w, sXmgn¬ taJ-e-bnse {]iv\w F∂nh Fs∂ _m[n®p

a. tIf-Øns‚ s\√d F∂-dn-b-s∏-Sp∂ ÿew GXv ? (1 kvtIm¿)

b. ae-bm-fn-bpsS apJy Blmcw F¥mWv ? (1 kvtIm¿)

c. s\≥a-Wn-bpsS s\mº-c-ßƒ Bfl-IYm cq]-Ønsegp-XpI (3 kvtIm¿)
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(Paper -1) (Part - B)

English
13. Find the word having opposite in meaning

A Snake moves quickly but a snail moves          (1 Score)
(Swiftly, Suddenly, slowly) ....................................................

14. Find out the correct word (1 Score)

      R    B    E    I    H    R    O    L  ....................................................

15. Read the following passage and answer the question (3 Score)
King Pingala ruled the kingdom of Gandhara very well.  He took his parents to

the palace.  He was very kind to the people.  Pingala spend more time to protecting the
trees and conserving the rain water.  He ruled the Kingdom wisely.
a.  Where did king Pingala take his parents?

b.  How did he spend his time ?

c   How did the king rule the Kingdom ?

16. Choose the correct preposition from the bracket and complete the sentence

a.  The boy jumped ......................................... Water (1 Score)

     (Under, Through, into,  along)

Select appropriate word from the bracket (1 Score)

b.  The cow moos, the cat mews and the horse .......................

     (brays, neighs, hirps,  barles)

17. A small boy and his parents went to see the festival.  While they were roaming about the
boy  hid himself some were in the crowd.  What will be the thoughts of his parents. ?

(3 Score)

..........................................................................................................................

..........................................................................................................................

..........................................................................................................................

..........................................................................................................................

..........................................................................................................................

..........................................................................................................................

Total Score :  10
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(t]∏¿ ˛�) (]m¿´v ˛kn)

s]mXp hn⁄m\w

18. amdn-am-dn-bp≈ hnf-Iƒ, ]®n-e-Iƒ, Itºm-Ãp-Iƒ Ch-bpsS D]-tbm-Kw˛ IoS \nb-
{¥-W-Øn\v {]Ir-Xn-ZØ am¿K-ßƒ F∂nh apt∂m´psh°p∂ ssPh Irjn-bpsS
D]-⁄m-Xmhv Bcv ?

DØcw (1 kvtIm¿)

19. 2016 apX¬ 2025 hsc-bp≈ bp.-F≥. Zi-Im-N-cW (10 h¿jw) hnjbw F¥v ?

DØcw (1 kvtIm¿)

20. 2016˛se tKmƒU≥ do¬ ]pc-kvIm-c-Øn\v (N-e-®n{X/tUmIyp-sa‚-dn) A¿l-\mb
BZy Gjy-°m-c≥ Bcv ?

DØcw (1 kvtIm¿)

21. 2017-- ˛se kwÿm\ kvIqƒ Iem-ta-f-bn¬ tPXm-°-fmb Pn√ GXv ?

DØcw (1 kvtIm¿)

22. C¥y-bnse BZy kpK‘ hyRvP\ ayqknbw ÿnXn sNøp-∂Xv     (1 kvtIm¿)

DØcw

23. C¥y-bnse G‰hpw henb a\pjy \n¿ΩnX Zzo]v (1 kvtIm¿)

DØcw

24. c≠v HmkvIm¿ Ahm¿Uv Ic-ÿ-am-°nb C¥y≥ kwKoX kwhn-[m-b-I≥ ?

DØcw (1 kvtIm¿)

25. tIcf kwÿm\ Ce-£≥ IΩojW¿- Bcv  ? (1 kvtIm¿)

DØcw

26. 2018 se temI-I∏v ^pSvt_mƒ thZn (1 kvtIm¿)

DØcw

27.  Ign™ Znhkw A¥-cn® ap≥ tI{µ-a{¥n {io. C. Al-ΩZv GXv ]m¿e-sa‚ v
 afi-e-sØ-bmWv {]Xn-\n-[m\w sNbvXn-cp-∂Xv ? (1 kvtIm¿)

DØcw

BsI kvtIm¿:  10


